PRECALCULUS 1 (ALGEBRA) - TEST 3
Fall 2019

KEey
NAME 1 STUDENT NUMBER

SHOW ALL WORK!!! Be clear and convince me that you understand what you are doing. Use
equal signs when quantities are equal (and do not use them when things are not equal). Put your
final answer in the box, when provided. Each numbered problem is worth 12 points. This test is
two-sided and there are 8 questions. You can earn 1 bonus point per problem by clearly writing
your answer using complete sentences! No calculators, put away your cell phone and smart

watch, and set the computer monitor face-down on the CPU!

1. David has 400 yards of fencing and wishes to enclose a rectangular area. Express the area A of
_ }p 154 | the rectangle as a function of the width w of the rectangle. For what value of w is the area
largest (explain)?
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2. Solve the inequality 622 < 6 + 5z and express your answer in interval notation. HINT:
= —b+ b2 —4
160 I} 622 — 5z — 6 = (22 — 3)(3z + 2) and the quadratlc equatlon states x = = ac

I{jjf/,,_é,_l' r;*'.'t.«,.« 4 4 {A / 6737“5 K'(f A e f‘}«‘ 7. ‘f 4 L J?{ ,9X—gé 2.
W th f/x J2f k=550 at Gl AR SO G frx)<l24-3)(3x+2)
e bl nate f T oene woz el e G

7 DG, 2 )

-1 ] o |2 Z 3
o) | D [ [ 08 ( 3, >)
fro| 4+ | — L * |

L+
L fUx) <O 7 x“(}‘,’i/)




3. Consider the function f(z) = z?(z — 2)(z +2). Find the end behavior and the intercepts (if any)
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4. Consider the function f(z) = z%(z — 2)(z + 2) again. Find the roots of f, determine whether it

i- W / g 6 \| crosses or touches the z-axis at these roots, and graph y = f(z).
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5. Consider F(z) = 2 + —. Start with the Library of Functions graph y = 1/z and use transfor-
—_— x
. 70 [ 7 ¥ J mations to graph y = F(z). What is the domain, range, and any asymptotes of F'?
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Find the domain of &, the intercepts, vertical asymptotes, and

) 6. Consider G(z) = D
I horizontal asymptotes (if they exist).

443 Vhin av o aeltom A fomeltie s e doncan i 0l peid itk tpcop
W e Avvirwniln Ao 0, 2 /Q—wu'ﬂ PO —74,“?—{‘//‘%\"0)- Lo x=seibcsyel
i Mgl oo C(x) =0 @/ g ae K= 0, TA yo et o y=6l0) =0,
/T,c, G i Attt AAC VA x:'z. iv:«z :(‘:;’Z)W'l/“)
Lo oty miamsiados av degeer 1 o He Ais i |y ir i y=0
o digree 2 my 0 o b U4 Vid. %= -2, A.y=0




7. Consider G(z) = again. Where is the graph of y = G(z) above and where is it below
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